BB

i e

4 O T (nd)

HRTAS

4

%

XRid FH

px
IRBLHLP

J i
B

Jr XSy

A1
W RIX 4
Hh

%

) B U B RRIRA T T

[S1:USES

171

374

JER RN
JE T MO PSP S

O

8 S OWBERR IR LT

= FA R

1%2

154

AR His
i FH B P e

) B U B RRIRA T T

= HALR

177

13

JEAR MR
JE T MO PSP 2

H. 9. 10. 14f
G S R XA K D H L AE

8 OWBERR IR LT

= FA R

2%3

674

AR His
i FH B P e

) B U B RRIRA T T

= AR

2%5

114

JEIR MU
JE T M Il 2

8 S OWBERR IR LT

= FA R

2%6

44

AR His N
i FH B P i

H.9.10. 1A 0f
FEI RS RIKIC X 2 H A

) B U B RRIRA T T

= AR

436

639

JEIR MU
Lk B 4311

8 S OWBERR IR LT

= FA R

4%

324

AR His
i FH L B P i

) B U B RRIRA T T

= AR

478

62

JEIR MU
JE T MO PSP 2

H. 9. 10. 14f
G S R XA K D M AE

10

8 OWBERR IR LT

[S{:VRES

6%5

632

AR His N
i FH L B P i

11

) B U B RRIRA T T

= AR

676

3.78 -

JEIR MU
JE T MO Il P 2

H. 9. 10. 14f
G S R XA K D H L AE

12

8 S OWBERR IR LT

= FA R

T

1,105 -

AR His N
i FH B P e

13

) B U B RRIRA T T

= HALR

107

579

JER MU
JE T MO PSP 2

14

8 OWBERR IR LT

[S{:VRES

12%

578

AR His N
i FH B P e

15

) B U B RRIRA T T

= HALR

143

135

JEIR MU
JE T MO PSP 2

T15. 11. 297%7&

16

8 S OWBERR IR LT

= FA R

15%

128

AR His N
i FH B P e

T15. 11. 29

17

) B U B RRIRA T T

= AR

167

149

JEAR MU
JE T MO PSP 2

T15. 11. 297%7&

18

8 S OWBERR IR LT

[S{:VRES

17%

138

AR His N
i FH B P e

T15. 11. 29

19

) B U B RRIRA T T

= AR

18%

844

JEAR RN
JE T M Il 2

20

8 S OWBERR IR LT

[S{:VRES

19%

899

AR His
i FH B P i

21

) B U B RRIRA T T

= AR

209

145

JER MU
JE T MO PSP 2

22

8 S OMBERR IR LT

[S{:VRES

213

918

AR His N
i FH B P e

23

) B U B RRIRA T T

[S1EUSES

20%

402

JEIR MU
JE T M Il 2

24

8 S OWBERR IR LT

= FA R

23%

382

AR His N
i FH B P i

25

) B U B RRIRA T T

= AR

24%

255

JEIR MU
JE T MO Il P 2

26

8 S OWBERR IR LT

= FA R

2471

395

AR His N
i FH B P i

27

) B U B RRIRA T T

= AR

253

263

JEIR MU
JE T M Il P 2

28

8 S OWBERR IR LT

= FUA R

25%1

563

AR His N
i FH L S P e

29

) B U B RRIRA T T

[S1:USES

267

286

JEAR MU
JE T MO PSP 2

30

8 OWBERR IR LT

= FUA R

2671

859

AR His N
i FH B P e

31

) B U B RRIRA T T

= HALR

27%

293

JEAR MR
JE T MO PSP 2

32

8 OWBERR IR LT

[S{:VRES

2781

951

AR His N
i FH B P e

33

) B U B RRIRA T T

= AR

28%

2,000 -

JEIR MU
JE T MO Il P S

34

8 S OWBERR IR LT

= FA R

28%2

368

AR His N
i FH B P i

35

) B U B RRIRA T T

= AR

2972

96

JEAR MR
JE T MBIl S

S11. 11. 4% &

36

8 S OWBERR IR LT

= FA R

30%

501

AR His N
i FH S P i

37

) B U B RRIRA T T

= HALR

3072

986

JEAR RN
JE T M DI P S




BB

i e

%

4 O T (nd)

HRTAS

4

%

XRid

XRid FH

px
IRBLHLP

J i
B

Jr XSy

A1
W RIX 4
Hh

%

38

) B U B RRIRA T T

[S1:USES

32%

751 -

JER RN
JE T MO PSP S

O

39

8 S OWBERR IR LT

= FA R

32%2

570 -

AR His
i FH B P e

40

) B U B RRIRA T T

= HALR

3371

166 -

JEAR MR
JE T MO PSP 2

41

8 OWBERR IR LT

= FA R

35%

996 -

AR His
i FH B P e

42

) B U B RRIRA T T

= AR

3572

609 -

JEIR MU
JE T M Il 2

43

8 S OWBERR IR LT

= FA R

367

974 -

AR His N
i FH B P i

44

) B U B RRIRA T T

= AR

3672

632 -

JEIR MU
Lk B 4311

45

8 S OWBERR IR LT

= FA R

RYE:S

984 -

AR His
i FH L B P i

46

) B U B RRIRA T T

= AR

38%

999 -

JEIR MU
JE T MO PSP 2

47

8 OWBERR IR LT

[S{:VRES

38%2

1,331 -

AR His N
i FH L B P i

48

) B U B RRIRA T T

= AR

3873

JEIR MU
JE T MO Il P 2

49

8 S OWBERR IR LT

= FA R

39%

AR His N
i FH B P e

50

) B U B RRIRA T T

= HALR

10%

JER MU
JE T MO PSP 2

51

8 OWBERR IR LT

[S{:VRES

4072

AR His N
i FH B P e

52

) B U B RRIRA T T

= HALR

417

JEIR MU
JE T MO PSP 2

53

8 S OWBERR IR LT

= FA R

42%

958 -

AR His N
i FH B P e

54

) B U B RRIRA T T

= AR

4272

744 -

JEAR MU
JE T MO PSP 2

55

8 S OWBERR IR LT

[S{:VRES

43%

954 -

AR His N
i FH B P e

56

) B U B RRIRA T T

= AR

14%

457 -

JEAR RN
JE T M Il 2

57

8 S OWBERR IR LT

[S{:VRES

4471

982 -

AR His
i FH B P i

58

) B U B RRIRA T T

= AR

15%

174 -

JER MU
JE T MO PSP 2

59

8 S OMBERR IR LT

[S{:VRES

4571

864 -

AR His N
i FH B P e

60

) B U B RRIRA T T

[S1EUSES

4671

1,178 -

JEIR MU
JE T M Il 2

61

8 S OWBERR IR LT

= FA R

48%T

2,807 -

AR His N
i FH B P i

62

) B U B RRIRA T T

= AR

48711

167 -

63

8 S OWBERR IR LT

= FA R

4971

862 -

AR His N
i FH B P i

64

) B U B RRIRA T T

= AR

4972

5,099 -

JEIR MU
JE T M Il P 2

65

8 S OWBERR IR LT

= FUA R

50%

983 -

AR His N
i FH L S P e

66

) B U B RRIRA T T

[S1:USES

5073

597 -

JEAR MU
JE T MO PSP 2

67

8 OWBERR IR LT

= FUA R

517

1,002 -

AR His N
i FH B P e

68

) B U B RRIRA T T

= HALR

527

1,001 -

JEAR MR
JE T MO PSP 2

69

8 OWBERR IR LT

[S{:VRES

967 -

AR His N
i FH B P e

70

) B U B RRIRA T T

= AR

547

963 -

JEIR MU
JE T MO Il P S

71

8 S OWBERR IR LT

= FA R

55%

973 -

AR His N
i FH B P i

72

) B U B RRIRA T T

= AR

567

979 -

JEAR MR
JE T MBIl S

73

8 S OWBERR IR LT

= FA R

51%

976 -

AR His N
i FH S P i

74

) B U B RRIRA T T

= HALR

58%

961 -

JEAR RN
JE T M DI P S




BB

ofE B # B 2 O i (nd) s o F)1 Eit
s | bl J X 5y O X 2 1%

s K | & i R i e - it
s N ' i ~ IR N
i 5 W OBCHERR IR AT KA | CHAR| 59% H i 1,008 ) O 1 M e )
; ~ _ P4 S
e VR B R IR T T Kk | CHEAR| 60%F il i 967 O O 8 e @)
s e | s B IR
i 55 WO AT KA | CHAR| 61%F H i 988 ) O 1 M e @)




BB

i e

%

4 O T (nd)

HRTAS

4

%

XRid

XRid FH

px
IRBLHLP

J i
B

Jr XSy

A1
W RIX 4
Hh

%

78

) B U B RRIRA T T

[S1:USES

627

992 -

JER RN
JE T MO PSP S

O

79

8 S OWBERR IR LT

= FA R

63%

982 -

AR His
i FH B P e

80

) B U B RRIRA T T

= HALR

647

1,137 -

JEAR MR
JE T MO PSP 2

81

8 OWBERR IR LT

= FA R

65%

1,197 -

AR His
i FH B P e

82

) B U B RRIRA T T

= AR

667

JEIR MU
JE T M Il 2

83

8 S OWBERR IR LT

= FA R

67%

1,970 -

AR His N
i FH B P i

84

) B U B RRIRA T T

= AR

697

JEIR MU
Lk B 4311

85

8 S OWBERR IR LT

= FA R

0%

1,058 -

AR His
i FH L B P i

86

) B U B RRIRA T T

= AR

713

JEIR MU
JE T MO PSP 2

87

8 OWBERR IR LT

[S{:VRES

73%2

7,943 -

AR His N
i FH L B P i

88

) B U B RRIRA T T

= AR

7378

JEIR MU
JE T MO Il P 2

89

8 S OWBERR IR LT

= FA R

5%

AR His N
i FH B P e

90

) B U B RRIRA T T

= HALR

763

JER MU
JE T MO PSP 2

91

8 OWBERR IR LT

[S{:VRES

e

3,263 -

AR His N
i FH B P e

92

) B U B RRIRA T T

= HALR

7871

1,007 -

JEIR MU
JE T MO PSP 2

93

8 S OWBERR IR LT

= FA R

78%2

480 -

AR His N
i FH B P e

94

) B U B RRIRA T T

= AR

79

965 -

JEAR MU
JE T MO PSP 2

95

8 S OWBERR IR LT

[S{:VRES

8071

882 -

AR His N
i FH B P e

96

) B U B RRIRA T T

= AR

8171

915 -

LA M sk Py
Eak

97

8 S OWBERR IR LT

[S{:VRES

8271

966 -

AR His
i FH B P i

98

) B U B RRIRA T T

= AR

8371

918 -

JER MU
JE T MO PSP 2

99

8 S OMBERR IR LT

[S{:VRES

8471

954 -

AR His N
i FH B P e

R4. 11. AT B HERBHERSE T

100

) B U B RRIRA T T

[S1EUSES

8571

946 -

JEIR MU
JE T M Il 2

101

8 S OWBERR IR LT

= FA R

8671

955 -

AR His N
i FH B P i

102

) B U B RRIRA T T

= AR

8771

922 -

JEIR MU
JE T MO Il P 2

103

8 S OWBERR IR LT

= FA R

8871

1,477 -

AR His N
i FH B P i

104

) B U B RRIRA T T

= AR

897

911 -

JEIR MU
JE T M Il P 2

8 S OWBERR IR LT

= FUA R

8972

5,602 -

AR His N
i FH L S P e

106

) B U B RRIRA T T

[S1:USES

90

979 -

JEAR MU
JE T MO PSP 2

107

8 OWBERR IR LT

= FUA R

917

987 -

AR His N
i FH B P e

108

) B U B RRIRA T T

= HALR

927

979 -

JEAR MR
JE T MO PSP 2

109

8 OWBERR IR LT

[S{:VRES

9272

10, 867 -

AR His N
i FH B P e

110

) B U B RRIRA T T

= AR

93%

993 -

JEIR MU
JE T MO Il P S

111

8 S OWBERR IR LT

= FA R

943%

997 -

AR His N
i FH B P i

112

) B U B RRIRA T T

= AR

9471

1, 468 -

JEAR MR
JE T MBIl S

113

8 S OWBERR IR LT

= FA R

95%

981 -

AR His N
i FH S P i

114

) B U B RRIRA T T

= HALR

9571

3,312 -

JEAR RN
JE T M DI P S




BB

ot B oA A O i (nf) - e IIE=
s | bl J X 5y O X 2 1%
THRTA K £ | 0% i B i F - e
. e | . ) . ) . _ R L Y
i 5 W OBCHERR IR AT KA | CHAR| 9582 o0 ALl 4,727 ) O 1 M e
~ . | , _ 4 3 P
e VR B R IR T T KA | CHEAKR| 95%3 Pt P 251 O O 8 e
b L o S R ' ; ; ) _ SR
T 05 WO R IR LT K| CHAIR| 9554 I P 5.21 @) o S5 D PN B




BB

orofE BT oA 4 O T (nd) 15 A1

I miKsy | MARKE fi %

TR K % i B i 3] Hh

4

118

) B U B RRIRA T T

[S1:USES

9575

16

JER RN
JE T MO PSP S

H. 9. 10. 140f
G S R XA K D H L AE

119

8 S OWBERR IR LT

= FA R

963

982

AR His
i FH B P e

120

) B U B RRIRA T T

= HALR

9671

2,590 -

JEAR MR
JE T MO PSP 2

121

8 OWBERR IR LT

= FA R

9672

1,184 -

AR His
i FH B P e

122

) B U B RRIRA T T

= AR

9673

1,502 -

JEIR MU
JE T M Il 2

123

8 S OWBERR IR LT

= FA R

9674

192

AR His N
i FH B P i

124

) B U B RRIRA T T

= AR

9675

129

JEIR MU
Lk B 4311

125

8 S OWBERR IR LT

= FA R

9676

42

AR His
i FH L B P i

H.9.10. 1A 0f
FEI RIS RIXIC X % e A

126

) B U B RRIRA T T

= AR

97H

821

JEIR MU
JE T MO PSP 2

8 OWBERR IR LT

[S{:VRES

971

3,944 -

AR His N
i FH L B P i

128

) B U B RRIRA T T

= AR

9774

627

JEIR MU
JE T MO Il P 2

129

8 S OWBERR IR LT

= FA R

97D

79

AR His N
i FH B P e

H.9.10. 1A 0f
FE RIS RIKIC X 2 A

130

) B U B RRIRA T T

= HALR

98%:

829

JER MU
JE T MO PSP 2

131

8 OWBERR IR LT

[S{:VRES

9872

4,874 -

AR His N
i FH B P e

132

) B U B RRIRA T T

= HALR

9873

782

JEIR MU
JE T MO PSP 2

133

8 S OWBERR IR LT

= FA R

9874

93

AR His N
i FH B P e

H.9.10. 1A 0f
FE R RIKIC X 2 e A

) B U B RRIRA T T

= AR

10071

1, 006 -

JEAR MU
JE T MO PSP 2

135

8 S OWBERR IR LT

[S{:VRES

10052

498

AR His N
i FH B P e

136

) B U B RRIRA T T

= AR

1017

1,016 -

JEAR RN
JE T M Il 2

137

8 S OWBERR IR LT

[S{:VRES

10151

6, 683 -

AR His
i FH B P i

138

) B U B RRIRA T T

= AR

10110

JER MU
JE T MO PSP 2

H. 9. 10. 14f
G S R XA K D H L AE

139

8 S OMBERR IR LT

[S{:VRES

10152

726

AR His N
i FH B P e

140

) B U B RRIRA T T

[S1EUSES

10175

1,719 -

JEIR MU
JE T M Il 2

141

8 S OWBERR IR LT

= FA R

101%6

455

AR His N
i FH B P i

142

) B U B RRIRA T T

= AR

10177

46

JEIR MU
JE T MO Il P 2

143

8 S OWBERR IR LT

= FA R

10178

174

AR His N
i FH B P i

H.9.10. 1A 0f
FE R RIKIC X 2 A

144

) B U B RRIRA T T

= AR

1017%9

85

JEIR MU
JE T M Il P 2

H. 9. 10. 14f
G S R XA K D M AE

8 S OWBERR IR LT

= FUA R

102%1

2,096 -

AR His N
i FH L S P e

146

) B U B RRIRA T T

[S1:USES

10273

479

JEAR MU
JE T MO PSP 2

147

8 OWBERR IR LT

= FUA R

1024

522

4 i N
H1RR

148

) B U B RRIRA T T

= HALR

10371

489

LA M Sk Py
1R

149

8 OWBERR IR LT

[S{:VRES

10352

215

4 i N
F1RR

150

) B U B RRIRA T T

= AR

1047%

417

LA M sk Py
Eak

8 S OWBERR IR LT

= FA R

1078

862

A i N
H1RR

152

) B U B RRIRA T T

= AR

1097

609

JEAR MR
JE T MBIl S

153

8 S OWBERR IR LT

= FA R

110%

497

AR His N
i FH S P i

154

) B U B RRIRA T T

= HALR

1117

486

JEAR RN
JE T M DI P S




BB

irofE B T Ho A {5 O i FE (nf) e L GIallIER:
s | bl B HBIX 5y SR IX 4 i %
M KF o wE | wmiE i i FH a L
S —— e |4 A1 X ~ SR A
i 5 W OBCHERR IR AT KA | CHAR] 112% H H 76 ) O 1 M e )




BB

BOTE P o H 45 O TR () " " EIES
#3 - - i | e mwy | bt 5%
RIS R T Hi 2 i ES]
156 | i NSRRI T AT KR [CEALR] 1% 1,074 - o) o |g mﬁ;é)%%% " o
157 T MR LT K [CHEAR| 1155 834 - o) o %m’%é@%%}{%m o
158 | i OWSE BRI T AT KAE [CHALR| 1166 1,667 - o) o |g mﬁ;é)%%% " o
159 | EERSCERGTIT | OO | B/ | 1452 7,380 - o 0w wﬁé@%@ "
160 T R T K| B JE| 1T 261 - o ﬁ@iﬁgm
161 T FOWCERR R AT K | B/ | 1753 228 - e} %;‘)gz%fl@gw
162 T R TT K| kS| 1991 472 - o ﬁ@iﬁgm
163 T FOBCERR R AT K | E/JE | 1953 396 - e} %;‘)gz%fl@gw
164 1 B LR I TR KHE | LR | 49% 1,912 - o o & mﬁ;é)%%% "
165 | H@ECEESRITAT | SR | kR | 501 580 - o O |,
166 1 B LR I TR KH | L/ JE | 5072 363 - o o ﬁﬂ%@%ﬁﬂé‘%ﬂ%i&
167 T OB IR T K| B/ JE | 503 43 - o o %ﬁé@%&&%ﬁ . f}\li?@&ﬁéﬁﬁfé .
168 1 B LR I TAT KHE | B/ | 5181 1,177 - o o ﬁfﬂ%@%%&%rm
169 | HEEACEESRITAT | OB | LU | 5192 665 - o O |,
170 i I WA B AR T T K Y, /5| 5133 76 - o) 0 ﬁfﬂ%@%%&%rm ﬁ%ﬁ)‘lfa&f&giéﬁ?éfmiﬁ
171 | REERSCERNRITAT | R | kR | 52 1,827 - o O |,
172 1 B LR I TR KHE | LB/ | 531 2,805 - o o ﬁfﬂ%@%%&%rm
173 | REERAUERSRITAT | OB | L | 542 2,492 - o O |,
174 1 B LR I TR KH | E/JE | 543 1,033 - o o ﬁfﬂ%@%%&%rm
175 18 B U N B LT K| kR | 56% 3, 069 - o o #mﬁé@%@ "
aF 191, 539. 20 191, 539. 20 | 186, 595. 20
& TED i
%R0 B oo T fil
H 123 92, 379. 99
JH 52 99, 159. 21
ait 175 191, 539. 20




